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(1) The theory of economic drain of India during British imperialism was propounded by
[A] Jawaharlal Nehru
[B] Dadabhai Naoroji
[C]R.C. Dutt
[D] M.K. Gandhi
Answer : [B]
www.myexamportal.com | www.couponlal.com | www.examlal.com | www.joblal.com | www.examyou.com
(2) Under an agreement with which of the following countries did Subhas Chandra Bose organize the Indian soldiers, taken as prisoners by the
Axis Powers, into the Azad Hind Fauj?
[A] China
[B] Germany
[C] Ttaly
[D] Japan

Answer : [D]
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(3) The use of Kharoshti in ancient Indian architecture is the result of India's contact with
[A] Central Asia

[B] Iran

[C] Greece

[D] China

Answer : [C]
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(4) The Turko-Afghan rule in India lasted for about
[A] two centuries

[B] three centuries

[C] four centuries

[D] a little over one century

Answer : [B]
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(5) The Venetian traveler who travelled with his wife and reached Vijayanagar around 1420 was
[A] Athanasius Nikitin

[B] Nicolo de Conti

[C] Ibn Batuta

[D] Ferishta

Answer : [B]
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(6) The Radcliffe line is a boundary between

[A] India and Pakistan
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[B] India and China
[C] India and Myanmar
[D] India and Afghanistan

Answer : [A]
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(7) Which of the following has a potential for harnessing of tidal energy in India?
[A] Gulf of Cambay

[B] Gulf of Mannar

[C] Backwaters of Kerala

[D] Chilka lake

Answer : [A]
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(8) The year ____is called a Great Divide in the demographic history of India.
[A] 1901
[B] 1921
[C] 1941
[D] 1951

Answer : [B]
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(9) The only private sector refinery set up by Reliance Petroleum Ltd. is located at
[A] Guwahati

[B] Jamnagar

[C] Mumbai

[D] Chennai

Answer : [B]
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(10) Unlike other parts of the Indian Coast, fishing industry has not developed along the Saurashtra coast because
[A] there are few indentions suitable for fishing

[B] of overwhelming dependence on agriculture and animal husbandary

[C] the sea water is relatively more saline

[D] of industrial development leading to widespread pollution of coastal area

Answer : [B]
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(11) The scarcity or crop failure of which of the following can cause a serious edible oil crisis in India?
[A] coconut

[B] Groundnut

[C] Linseed

[D] Mustard
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Answer : [B]
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(12) Which of the following is the first Indian private company to sign an accord with Government of Myanmar for oil exploration in two
offshore blocks in that country?
[A] Reliance Energy
[B] Essar Oil
[C] GAIL
[D] ONGC

Answer : [B]
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(13) Since the inception of the co-operative movement, rural credits has been
[A] institutionalized

[B] rationalized

[C] cheapened

[D] All of the above

Answer : [D]
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(14) If an economy is equilibrium at the point where plans to save and to invest are equal, then government expenditure must be
[A] zero
[B] equal to government income
[C] larger than government income
[D] negative
Answer : [B]
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(15) In utensils worth Rs 1000 are produced with copper worth Rs 500, wages paid are Rs 100, other material purchased is worth Rs 100 and
depreciation of machinery is zero, then what is the value added in process?
[A] Rs 1000
[B] Rs 500
[C] Rs 400

[D] Rs 300

Answer : [D]
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(16) In which of the following sequences the change in quantity of money leads to change in price level in the Keynesian models?

[A] Change in quantity of money - change in investment - change in employment and output - change in rate of interest - change in price level
[B] Change in quantity of money - change in employment and output - change in investment - change in the rate of interest - change in price level
[C] Change in quantity of money - change in investment - change in rate of interest - change in employment and output - change in price level
[D] Change in quantity of money - change in rate of interest - change in investment - change in employment and output - change in price level

Answer : [D]
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(17) Which of the following is NOT a type of expansion slot or bus design used in Advanced-Technology class systems?

[A] PCMCIA

[B]ISA

[C] PROM

[D] EISA

Answer : [C]

Explanation: PROM stands for Programmable Read Only Memory and is not a type of expansion slot or bus design. Today, PCI has become the most
used expansion slot design in PCs. Older PCs incorporated both PCI and ISA slots for computability with older expanssion devices.
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(18) Which one of the following is a search engine?

[A] Macromedia Flash

[B] Google

[C] Netscape

[D] Librarians? Index to the Internet

Answer : [B]

Explanation: A search engine is a program that searches for Web documents with keyword (s) you specify. Yahoo!, Google, and AltaVista are just three
examples of search engines that have been created to help you find information on the Web.
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(19) Which of these is a documented hoax virus?

[A] McDonalds screensaver

[B] Alien.worm

[C] Merry Xmas

[D] Adolph

Answer : [A]

Explanation: A virus hoax is usually an email that gets mailed in chain letter fashion describing some devastating highly unlikely type of virus, you can
usually spot a hoax because there's no file attachment, no reference to a third party who can validate the claim and the general 'tone' of the message.
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(20) What does SSL stand for?
[A] Secure Socket Layer

[B] System Socket Layer

[C] Superuser System Login

[D] Secure System Login
Answer : [A]

Explanation: A protocol developed by Netscape to allow secure connections over the net.
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